ÏÏÏÏ
ÏÏ«Ï ----jGRASP exec: java ShortCircuit
ÏÏ§Ï
ÏÏ§Ï condition 1 true 
ÏÏ§Ï condition 2 true 
ÏÏ§Ï Sum 1
ÏÏ§Ï Sum 3
ÏÏ§Ï Sum 6
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
ÏÏÏÏ
ÏÏÏÏ
ÏÏ«Ï ----jGRASP exec: java ShortCircuit2
ÏÏ§Ï
ÏÏ§Ï condition 1 false
ÏÏ§Ï condition 2 erroneous 
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
ÏÏÏÏ
ÏÏ«Ï ----jGRASP exec: java ShortCircuit3
ÏÏ§Ï
ÏÏ§Ï condition 1 true
ÏÏ§Ï condition 2 erroneous 
ÏÏ§ÏException in thread "main" java.lang.ArrayIndexOutOfBoundsException: 10
ÏÏ§Ï_at ShortCircuit3.main(ShortCircuit3.java:13)
ÏÏ§Ï
ÏÏ§Ï ----jGRASP wedge2: exit code for process is 1.
ÏÏ©Ï ----jGRASP: operation complete.
¼¼ÏÏ
